
Installation Manual

G6
REV.1

www.genesisfnt.com



INDEX

1. Recommended Tools                           

2. Connecting Frame to Frame

3. Connecting Frame to Panel Connectors

4. Connecting Tile

5. Connecting Top Cap and End Cover

6. Connecting Safety Angle

7. Connecting Stackable Frame

B (M8*90)A (Clamp) C (M8*13) D (M8*50)

G (M8*40) H (Φ4*8)E (Φ4*16)

I (M6*10)

F (M6*8)

1. Recommended Tools 

2. Connecting Frame to Frame

Step 1

Step 2

1



A ※ H 1570, 1770

B

C

Step 3

Step 1

Step 1

Step 2

Step 1

Step 2
※ H 1570, 1770

D

3. Connecting Frame to Panel Connectors

4. Connecting Tile

X2 X3 X4

2WAY 3WAY 4WAY

2 3



E

Step 3

Step 1

Step 2Step 1

Step 1

5. Connecting Top Cap and End Cover

6. Connecting Safety AngleBelt Line Tile

Top Cap

End Cover

C
G

F F

4 5

Variable-Height End Cover



H

7. Connecting Stackable Frame

Step 1

Step 2

Stackable Frame

www.genesisfnt.com

6


